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GV 37 H UH-U 3 dict 8 Nv4 &, 5 dg-lakcdl 512 | @8 T H 6 JH 7
970 @ Y% 2 3% FT8 | @8 T4 10 99 di7-d17 3Fl & 5 | @25 H
10 577 8 577 @ 5o 4 31 F1 8 |

Fergoiet &1 FIIT alHd & |

Greneral Instructions @

(i)
(it)

(iir)

(i)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections — A
B, C and D.

Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section
contains 10 gquestions of 3 marks each and Section D contains
10 questions of 4 marks each.

a

Use of caleulators is not permitied.

s A
SECTION A

Yo HEAT ] B8 GF V4F Yo7 1 HF #FT1 & | Y99 F&I 17 8 § I3% ¥97 & 7w an
fawey 2 7w &, 574 @ Faer v wgh 8 | 8 famey 9T |

QQuestion numbers 1 to 8 carry 1 mark each. For each of the question numbers
I to 8, four alternative choices have been provided, of which only one is correct.
Select the correct choice.

30/

Ife k, 2k —1 991 2k + 1 Uk HHGL 3! & o9 SHATE 92 &, i k &1 HHE &

(A) 2
(By 3
¢ -3
(D) 5
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If k, 2k =1 and 2k + 1 are three consecutive terms of an A.P., the

value of k 18

(A) 2
(B) 3
(C) -3
(D) 5

3l g0 YOO fomg P W SRl ¥ € T99 I B | e bl fegI A qur B W e
Feft 73 3wl T W@ ABR | £ APB %1 AT 2

(A)  30°
(B) 45°
(C)  60°
(D) 90°

Two eircles touch each other externally at P. AB 1s a common tangent to

the circles touching them at A and B. The value of £ APDB 1s

(A)  30°
(B} 45°
(Cy  60°
(D) 90°
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ws "uehor Brs ABC d, 2 B @weior 8, BC = 12 &t q91 AB =5 ot 2 |
30 B9 & Hdiia @i Y g 6 B (B ) 2

(A)
(B)
(C)

(D)

4

3

2

1

In a right triangle ABC, right-angled at B, BC = 12 em and AB = 5 em.
The radius of the eirele inseribed in the triangle (in em) is

(A)
(B)
(C)

(D)

4

3

2

1

a7 ==t o 9fEn #, FH-H-FH UF AdSH1 84 6 Tiiehar 8

(A)

(B)

(©)

(D)

T
8

o0 | =

Qo|en

= | s
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In a family of 3 children, the probability of having at least one boy is

@
(B) %
© 2
® 3

U 150 Wi, 39 00 & T ¥, 3% W Gl Ush &I & FAG40T S0 30°
2 | AR @ %m B gh (of. #@) B

(A) 5043
(B) 15043

(C) 15042

(D) 75

The angle of depression of a car parked on the road from the top of a
150 m high tower is 30°. The distance of the car from the tower (in

metres) 1s

(A) 5043
(B) 15043
(C) 15042
(D) 75
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gemat 1,2, 8, ., 150 8 Ag=ad Uh e g6 T | P T gem & 4 H
Tore B <Rt wTfreRdr 2

4
(A) E
(B) -2

15

1
[3 =
(O

1
D =
®

The probability that a number selected at random from the numbers
1,2, 3, ..., 151s a multiple of 4, 1s

4
A
w
B =
15
1
o) =
© =
|
(N

ABCD v 3mad 2 fames 9 sfid B4, 0), C(4, 8) @1 D0, 3) 8 | 37Ed
U famwol i o 2

(A) 5
(B) 4
(C) 3
(D) 25
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ABCD is a rectangle whose three vertices are B(4, 0), C(4, 3) and X0, 3).
The length of one of its diagonals 1s

(A) 5
(B) 4
c) 3
(D) 25

10 &t B & g9 ) v Sfiar Fz W gEFO aiE w2 | 39 S
wars (Ff H) 2

(A) 5.2
(B) 1042
c) =

© 5
(D) 1043

A chord of a cirele of radius 10 em subtends a right angle at its centre.
The length of the chord (in em) is

(A) 542
(B) 1042
©c) 2
J2
(D) 1043
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LCLERE
SECTION B

I GEIT9 G 14 TF J9F G F 2 HF 8 |

Question numbers 9 to 14 carry 2 marks each.

9. p % 98 AF T hifae, Fes fou, fZame afteor 4x? + px + 3 = 0% 4@
g 2 |

FFind the values of p for which the quadratic equation 4x° + px + 3 = 0 has
equal roots.

10. 101 @1 999 % &= 2 M 5 g1 ¥ fqursy upa gemet fi gen 7.
Hifo |

Find the number of natural numbers between 101 and 999 which are
divisible by both 2 and 5.

11. a1, &g O, 991 O, a1t 3t gl Hl IwAHE T99f @rd AB @ CD fog
E @ 1edt 2 | fiag <ifse i AB =CD.

In Figure 1, common tangents AB and CD to the two circles with centres
O, and Oy intersect at E. Prove that AB = CD.

Figure 1

30/ 8
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14.

us wHfgarg B ABC, fe® AB = AC 8, & 3i@ia @i=n man g, e
BC, CA a1 AB =i sew: fagati D, Eau1 F @ w99 & & | fag Hifs fe
BD=DC? |

The mneirele of an isosceles triangle ABC, in which AB = AC, touches the

sides BC, CA and AB at D, E and F respectively. Prove that BD = DC.

2t firm-fim arat =t o w1y Swren | ot sa fifse fe
(i)  2FT 9= W 3 9] 99 7/ |
(i) 2HE 9=l T AT JEASAl 1 AR 5 Bl

Two different dice are tossed together. Find the probability
(1) that the number on each die is even.

(11)  that the sum of numbers appearing on the two dice 1s 5.

A3 w3 A 1 qeqol gE amed 462 i Bt B, at sEeR aA §d
22

B | = 22 oo

If the total surface area of a solid hemisphere is 462 em?, find its volume.

[Take:::%]

WGUEH
SECTION C

797 GEIT 15 8 24 % T3 F94 & 3 7% & |
Question numbers 15 to 24 carry 3 marks each.

15.

16.

30/

xaa%qgaﬁﬁm:

16 _1=15; xxo, -1

X X+ 1
Solve for x :

E—1: lﬁ;xiﬂ,—]

X X +

U GHTAL Al o Uled q91 | 9el 1 AR 30 2 | A 39 u=HiEdl ug
39 84 Ug I oA T 7, a9 THIR Ut 714 i |

The sum of the 5™ and the 9" terms of an AP is 30. If its 25" term is
three times its 8 term, find the AP.

Page 9
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17. & Bya & w fifse, Sedt yard 5 @, 5.5 @t qun 6.5 @t € | fe w
= fgs H = Fifae, Gehl ged, fou gu Bige & gma ye=ed 6

3 .
s T E |
Construct a triangle with sides 5 em, 5-5 em and 6-5 em. Now construct

: : 3 .. , .
another triangle, whose sides are = times the corresponding sides of the
5

given triangle.

18. 4 % U fog ¥ UF IEIH F IFHF R 60° 2 | 30 FHUS I IIH % 91

T8 A IV 30° & A1 2 | I T@ aigEE 300043 i, Fi = FEE W
3 W@ 2, dl argaF =i i 3 i |

The angle of elevation of an aeroplane from a point on the ground 1s 60°.
After a flight of 30 seconds the angle of elevation becomes 30°. If the

aeroplane is flying at a constant height of 3000+/3 m, find the speed of
the aeroplane.

19. Afe fag Pk - 1, 2) fagatt A3, k) @1 Bk, 5) 8 59gY &, @1 k & W #1@
Hifem |

If the point Pk - 1, 2) is equidistant from the points A(3, k) and B(k, 5),
find the values of k.

20. 98 9 Fa iy faed fagat A3, - 8) AR B(-2, 7) HI faem amen
TErEve x-34 ¥ fawifad g 2 | 39 favrse fomg & e it s i |

Find the ratio in which the line segment joining the points A(3, — 3) and
B(—2, 7) is divided by x-axis. Also find the coordinates of the point of
division.

21. H 2 §, O %y 96 & Ghgia g & foAeht Breemd 21 &t qun 42 ofi & |
ﬁgﬂﬂﬂ:ﬁﬂﬂ%,ﬁmmmmmﬁﬁm|n=¥?ﬁﬁmj

7
1 ™

#] B

A s,

e
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In Figure 2, two concentric circles with centre O, have radii 21 cm and
42 em. If 2 AOB = 60°, find the area of the shaded region. [Use n = E’TE]

o,
F_|""'l. '\\
b Py,

e

Figure 2

22. 7 Tl YN 9Tt @RSl %k UH M@ TH H ¥ UH we-T-a@el Ml HET T | I
aﬁaﬁmmmﬁﬁq“:::%ﬁﬁq]

The largest possible sphere is carved out of a wooden solid cube of side

7 em. Find the volume of the wood left. [Use n = ?]

23. 6 . S 3 1.5 H. 78l vk A8 H uE 4 TRl ufg 92 6 9 | =98 @
21 10T § 72 9= frae easa 6 G = gt s=fs = & fom
8 Tt MEL gt ht sAEvEEar 8 ?

Water in a canal, 6 m wide and 1-5 m deep, is flowing at a speed of
4 knmv/h. How much area will it irrigate in 10 minutes, if 8 em of standing
water is needed for irrigation ?

24. orpfa 3 H, ABCD & #weid 2, oo &awa 245 o aft 2 | sow
AD | | BC, 2 DAB = 90°, AD = 10 @i 921 BC = 4 &t 2 | af¢ ABE s g4
ma@h%,ﬁmﬁ%mﬂmmﬁml[m%ﬁﬁm

A

AP 3
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In Figure 3, ABCD is a trapezium of area 245 sq. cm. In it, AD | |
BC, « DAB =90°, AD = 10 em and BC = 4 em. If ABE is a quadrant of a

22]
7

circle, find the area of the shaded region. | Take n =

D E A
C

C B
Figure 3

LG L
SECTION D

Uo7 GEAT 25 834 TFH TIF Jo7 F 4 JF 8 |

Question numbers 25 to 34 carry 4 marks each.

25. x foru g1 o

— — 10
& 2+x 4=' . X#3,5
X—3 X—0 3

i

solve forx :

26. U fommem™ & BE A 9 UgEW 4 F & fou faemem & i o @ U
T F v T | ueie %e & Tede VT G AT el i HE %
M % FAR U T H i forn | afe fqaem 0 1 @ 12 9% werd @ G
Tedeh el o g1 UM &, a1 BEl g TFIT T A Yei i T 7q Hhifa |
30 Y ¥ fohm gex < gwien @ 2
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In a school, students decided to plant trees in and around the school to
reduce air pollution. It was decided that the number of trees, that each
section of each class will plant, will be double of the class in which they
are studying. If there are 1 to 12 classes in the school and each class has
two sections, find how many trees were planted by the students. Which
value is shown in this question ?

gt W feud fag A /120 1. i g W frua o dm % frae w1 33 s
45° 2 | Afg HAR % fre W o1 U cawers % SO R w1 fag A W I
IV 60° B, Tl €awgUe 1 ST §id Hifeg | [VB = 1-73 =i )

The angle of elevation of the top of a tower at a distance of 120 m from a
point A on the ground is 45°. If the angle of elevation of the top of a
flagstaff fixed at the top of the tower, at A is 60°, then find the height of
the flagstaff. [ Use3 =1.78]

52 Ul At a1 ki Uk TE A B AT T I SH qUT Fied T o e ek
feu M | I i H TS THER Hed & A¢ I W AGTHAT Uk Y1 Heprer
T | wTiReRar sTa Shifeu o e mn u

(i) U 9CwE @

(i) & T 1 &l

(iii)  Weh T ST 91 B

(iv) U o Bl

Red queens and black jacks are removed from a pack of 52 playing cards.
A ecard 1s drawn at random from the remaining ecards, after reshuffling
them. Find the probability that the drawn ecard is

(1) a king

(i1) of red colour

(ili)  a face card

(iv) a queen

afg A(-3, 5), B(—2, -7), C(1, —=8) @1 D(6, 3) T Iqds ABCD % 3fid &, at
3GF! &A% Fia hifau |

If Ai=3, 5), B(-=2, =7T), C(1, —8) and IXG, 3) are the vertices of a
quadrilateral ABCD, find its area.

Page 13
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% A, e for 5a § 3 18 el ufa ger 2, 24 fft umo %
fahet 9 H, € gt 9T % rgha W A e 1 Her sfus ot B ) am
&1 =Ta 71d Fifw |

A motorboat whose speed in still water is 18 knvh, takes 1 hour more to
go 24 km upstream than to return downstream to the same spot. Find the
speed of the stream.

el 4 #, 10 @l Breen & ws g9 #t 16 Tft ol v S PQ B | P 3R
Q W T tEd W U fag T W wid=se #dt & | TP &l @& 9@
ifo |

4

In Figure 4, PQ 1s a chord of length 16 em, of a cirele of radius 10 em. The
tangents at I’ and Q intersect at a point T. Find the length of TP.

Figure 4

firg v 6 9 % Fee farg W wadl Y wuel forg & T areht o w i
Bt 2 |

Prove that the tangent at any point of a circle is perpendicular to the
radius through the point of contact.

14
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7 Uit AW &% UH doHehR w@ad, SEd $w urt 2, § 1.4 wft s andt
150 TR, MiferaT S1edl 7 =1 T 9t o qoian ga 12 | 3a it f 99 4
ul % w1 A ferat gig g8 |

150 spherical marbles, each of diameter 1-4 cm, are dropped n a
evlindrical vessel of diameter 7 em containing some water, which are
completely immersed in water. Find the rise in the level of water in the

vessel.

U H Gl Uh G4 U & [ddh b AHR F 8, [GThl H9g 24 T @
den Feet qon It g Bl Y Broand e 8wt qenm 20 & E
¢ 21 9fa offet it B 39 97 B W W A A0 g9 H qed 71 B |
[n:%?ﬁﬁm]

7

A container open at the top, is in the form of a frustum of a cone of height
24 em with radii of its lower and upper circular ends as 8 em and 20 em

respectively. Find the cost of milk which can completely fill the container
29
at the rate of ¥ 21 per litre. [Use = = %]

15
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